Das Einsdurcheins mit 11 tben [2]

Zum grofien Einmaleins

Aufgabe 1 Aufgabe 2

.33 11 = . 66 11 =
2. 110 : 11 = 2. 110 : 11 =
3 66 : 11 = 3 FE o011 =
4 66 11 = - 88 : 11 =
511 11 = 5 44 11 =
6. 88 11 = 6. 55 11 =
oo P 11 = o099 11 =
8 88 : 11 = 8 99 11 =
% 99 11 = % 22 11 =
0. 55 : 11 = 0. 33 11 =
Aufgabe 3 Aufgabe 4

1. 85 : 11 = 1. 85 11 =
2. 33 : 11 = 2. 55 11 =
309911 = 3099 11 =
4. 55 : 11 = 4. 110 : 11 =
566 : 11 = 522 11 =
6. 88 : 11 = 6. 33 11 =
o011 0 11 = oo P 11 =
8 99 : 11 = 8 44 11 =
9. 55 : 11 = 9. 1 11 =
10. 55 : 11 = 0. 55 : 11 =
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Das Einsdurcheins mit 11 tben [2] | ANTWORTEN

Zum grofien Einmaleins

Aufgabe 1 Aufgabe 2

.33 11 = 3 .66 11 = 6
2. 110 11 = 10 2. 10 11 = 10
3 66 11 = 6 3 7711 = 7
4 66 11 = 6 4 88 : 11 = 8
5. M 11 = 1 5 44 11 = 4
6. 88 11 = 8 6. 55 11 = 5
7o FF 11 = 7 o099 11 = 9
8 88 : 11 = 8 8 99 11 = 9
9 99 11 = 9 9 22 11 = 2
0. 85 11 = 5 0. 33 11 = 3
Aufgabe 3 Aufgabe 4

1. 55 : 11 = 5 1. 55 11 = 5
233 :11 = 3 2. 585 11 = 5
399 11 = 9 399 11 = 9
4. 55 11 = 5 4. 110 11 = 10
5 66 : 11 = 6 5 22 11 = 2
6. 88 : 11 = 8 6. 33 11 = 3
o001 11 = 1 oo FF 11 = 7
8 99 :11 = 9 8 44 11 = 4
9. 85 : 11 = 5 9. M 11 = 1
0. 55 : 11 = 5 0. 85 11 = 5
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